) ST =t . "fp(j SO D ]
T Ohapler Kevien

D) L) = | -20c+ 212

£x) = 0 Jg (>c+h) - £
NS N

?[( ,,«:i> iuw@ ([“"2[?*5
=0

D) +30h )~ (o743 <)
e

3‘{&;’}@ I =-Z;1_ -2l ‘F %1 *%“(:JX’?‘)% 5}/3 /_jL B o

X -ZY
N0 I ,

= Dune B 4 xh -2h
K"“”?C) , b

0 %(5"3 + b Q) | , !
J’L@O K

=3Drbx-3

= (C)I ~ A




b) @m+2)(x™) =y

0 o' = % (2x 22) = A (o)

b
P

=EE QI 2R R 4=

25 2. =Za a2z

= D
\ - /



- (JC*?):
9 4= (142X250(2) = (22-0(3)
o <) {1+ :%—y)"i

= -l +3
( 1+BxD7T

e}

(1+30%
W)y = 700 ()

=42%x2 (233 )

dl>%§;6124xbééiwux?5@w(ﬁzi)).% (?Q}Fﬁxﬁtgggaz'

o AP A Xt (2t O(1-xD % [

(I-x5% A
| 7> -3 | -t
= «DCDVDC + (’Lx»\ x>[1~ 3)
((-2A)%

= “—53@5 2524 2% | -
N o= ) - é

3y (ZﬂQQZEL,L“Q£m211> B

(2-20%

: EI“(O'IZ .l ?)'X,?+l

e

= 1+ @y -z2x? i
(2 -X )% K




| 2 hlx) = (}i)ﬁb!}y%
3] \"*gff% 2
L124?“¥%(21*wg)“J %1?)

DD = (et-0)? (- W) 4+ (1-220(2) (x40 (41 5
= -2 [t 4 Waﬁibiﬁgf Dk
S B (=25
= =9 (ot 24 éﬂ?’(a/‘*ﬁ S0 |

= -2 (" H (,:vf(-H —e® L2y

3'2Cxﬂ4ff]%xﬁmbwg+ﬂ

vm) ;C&)-f _t N

o Clyeby=
PO = (o)D) = L (12D (£ (42D
| Cl+at). o
= ( 5D S
CHQ«‘:V = _(l+rat)s
(t2t) ,”legt)

= EE
)i




.
//) : |

% ﬂ@ )

o / :

ﬂ% 4
éE%HiX
s . ! \>
=1
» + 4 ;O
()

o)
ROwW =
U
+ |
-2
uz

(V
/> e

) (\/Z
)7 )%
~10v (v2- > ZEE
= -5y~ a)
y
[zvgj

&(
Vv 7Y
:~>\/L




fd i/ \“\'““EJ:Z F LN N - \( |
Mie LAz V2 QD) = (020 +2)
2=, (Tiz)e B
B .(Jz';ié\q/ = [1+22-9%2 -22%
z \(+22, (2D
= 1-9z-2° e

2( 1tz X1+ 2= A AJTrz (Ne27)







